The total population of Great Britain and Ireland is 70 mullion.

Information about this population is given n the table.

England

54.9 million

Northern Ireland

1.9 muillion

Republic of Ireland

4 6 million

Scotland

5.5 million

Wales

(a) What is the population of Wales?
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(b) Sue thinks the population of Northern Ireland and Republic of Ireland makes up

more than 10%
P
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Do vou agree?

Explam your answer.
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19 (a) Pat buys 30 boxes of crisps.
Each box contains 48 packets of crisps.
He sells 80% of the crisps at 60p a packet.

(i) How many packets does he sell at this price?
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(i) How much in total does he sell them for?
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(b) He sells the rest at 20p a packet. Z 67{ ect. lacen
Pat paid £25 for each box of crisps. f

Does Pat make a profit or loss, and how much 1s this profit or loss?
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